COLOR BY NUMBER

Solve each systerm by alimination.

1. - 2w+ By =-14 4., -dx EZy =4
-dx &y =-10 3m o+ 2y = -6
a. [-4, -1} Dark Purpés a. {2, -6) Black
b. (1, 4} Red b. (2, -2} Dark Gresn
c. (4, -1} Gray c. [-2, -2} Ceang e
d. {1, -4} While d. (-6, Z} Pink
2 -du+dy=0 5 x+Gy=15
-5x 4y =18 -x y=0
a. Mo Sobson Light Green a. (3, 3) White
b -2, -4} Cerange b {3, -3} Light Blue
c. {4, -2} Dark Biue c. [-3 -3} Red
d. (-2, -2} Yellow d. (-3, 3} Brown
3 Hey=3 6. -5x y=-1T7
Sw y=-11 ax +y= 13
a. (-2, -6} Lighi Green B a. {4, -3} Light Geresn
b. {-2, 1} Pusple b. (-4, -3) Blue
c. -6, -2} Black oo 3, 3) Pink
d. {-2, &) Brown d. (-4, 3} Dark Gresn

Solwe each system by substitution, ©-T 0 5700

T. y=-4x 12 1My=3x 2
Y= - 2u -5 y=4x 4
a: (-3, 0) Light Bhue a: {2, 4} Dark Biue
b, {0, -3} Dark Gresn b {3 -1} Crange
c. iy, -1} White c. (1, 4} Dark Puspls
d. (-3, 1} Dark Puspls d. {1, 3} Tan
B y=4x 12 M.y=-Z20+ T
y=x 3 y=x 2
a. {0, -3} Red a -3 -2)Tan
b, {-3, 0] Dark Purpls b. {3, 1} Dark Green
c. (3, 0) COrampe c. (3, -2 White
d. (-3, -1} Dark Blue d. {3, 2} Brown
B y=x+1 1Z.y=-4x. &
y=-2x. & Vo= K+
a. (3, 2) Whike a [-2, 3} Tan
b (2, 2} Darlk Blee b (-2, -3) Yelow
c. 2,3} Red c. (-2, 2} Dark Puspls
d. 2, -4} Tan d. (-1, 3} Blue



